T 40 T @3ed

¥20Z ‘€0 4290120 ‘Aepsiny

Z2'9ES1S $994 |B10]

ZT'18T'62S :uonenjen |eyol

00°t¥6'S ‘8pg 34 4bs [e101L 00y :suWIaq SUIp|Ing |230.
TL°0YZ$ 00°000'S$ 900-96Z-S¢¥ 000 13INVd V1410313 3avH9dN "3AY 3dVHO LY 9801 vZ0Z/0€/6
YET6rS 00°005°ST$ 600-T8T-S¥  00°000'€ 400434 - OW3Q IS HLZ "3 SpS S80T ¥z0z/se/6
vT'8LES 00°005'¥$ 120-2Z1-SF  00°08Y Q3HS 3I9VYO0ILS - OW3a "INV ¥va3ID 528 80T ¥202/91/6
€0'ETVS 2TI8T'YS PIO-€SE-SF  00°v9v'Z 400¥3Y - OW3Q 3AV 31v3E 6TL €80T ¥z0zZ/11/6

994 |B101 uonenea NdVY 8pigi4ibs auoz uonduasaqg yiom SS24ppY  "ON Mwliad 21eQ

Hoday sywiad Sulpjing / 1wiad Suipjing
9]|IA}JOH Jo A1)



